B e <@ £> = §E EHEE
mh x RO R
Bl @ © 62
) m=i|
wn
2 Bl
= ]
““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ 5
EH
‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ <
E
K RN xN B =
Bl @ ©
Bl =
(=3
N
(2 N O S O S N S S N N SO N S N
g
5
““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ ]
©
fEH EE4<
- A NN
i |
Y G
" (=3
| I
© W
EE =]
a)
)
]
“““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ |
<t
ﬁMIn_ ‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ =
©
““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ -]
=)
® | Bl
=Nl — N
EEl G
B4

TEHR



SRR 31 A < = k> MOR fir % AR
2
1]
5
(1) % | (2) b (1) (2)
a b 2
a *2 F #3
b
(4] J| 3
Wik A
i
&)
2
(5]
[6] a c
d
® @
I 5 iz o
km/s &) 16 )
v
W12 |-
o
km| 2 % osl
[#
4 -
00 46 86 ‘120

iR S OEHE (km)

wLEE




ik 31 < "ol > ¥ Gh A FHAR
1 ( )= ( )= ( )= ( )
2 |No.l No.2 No.3
(1]
3 |No.l No.2 No.3
4
1 @® ® ® ®
2
1 1 2 3
(1) |I usually ( ) foreigners.
2
(2) | Will you ( ) there?
(1) | Sorry, but John ( ).
John,
K
(2)
Ren
1
(4]
3
4
1 (1) (2) (3)
2
3
4 1 2
5
6
7 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,




SRR 31 4

N

N

N

N

B
=+
s
ot



R 31 AR < "ol > & o2 i T A
(1) (2)
7
(3)
1 1
)
(4)
I
(1)
(2) (3) (4)
2 2
(5)
,]’ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
1
M |7 1
(4] A o
2
2 |7
B T

B
H
s
ot



Sk 31 AR < B g > ¥ o tol i FHAK
(1) (2)
(3) (4)
(5) 6) |x=
(7) (8)
(2) &S|
WA | B | Al (M)
1 (1) BEO 60x
O 4y
(1) il
(FEHH)
2

s—on—r% [ remirez

wLEE




SRk 31 4F- < BH ki > B v 202 fir % AR
1 2
ANAPQ & A QPB T,
3
AAPQ A QPB
P =T, WIBd 2 80EXOHIZHLWOT,
1:PQ =PQ:3
PQ*=3
PQ>07%25, PQ=V3
(1) | (20 | £BPC= i3
4
(3) cm
1 |a= 2
(4]
3 | () ( , ) (2) |AAOP: APBC=
1 cm| 2 cm’
3 %| 4 cm

wLEE




R SR

<

£> H

== ]

BEE

&

e

0

%

DN

1Y

0\

O

i
O

15

15

G
I

15

20

20

40

HEHR



Sk 30 4 < B g > MRzl fie 2 A
m|7 1
(1] (2) (3)
HADIZS BEB LD
(1) (2) (3)
(1) (2)
H PREH
(3)
4)| 7 1
(1) (2) (3)
(1) (2) (3) g/cm’
m |7 1 )
atb b&d
(2) (3)
" (2)

0 2

1 6
(cm)

WA ZILH RS

B




SERR 30 4F- i < =\ o > MR 202 fir % AR

(n Wi | (2 @ |7 | A
m|7 1
e
§ @)
(n 2
(m £

wE | EOWE
3
(m
e
(m O | (2 Al® @ 0

s W
(m V| @ v|®
W

B
H
s
ot




Pk 30 418 < H g > E i AR
1 [No.l No.2 No.3
© |( ) people including him
1] 2 | @ |Playing ( )
® |To tell students about Japanese ( ) in America
3 |Nol No.2 No.3
1] O @ ® ® ®
2
1 A B 2
4
1 1
(1) | Our ( ).
2 | (2) |My father ( ) other day.
(3) |It says that ( ) enter from here.
(4]
e .
3
S S s O O B
1 (1) (2) (3) (4)
2
3 4
5 1
6

B

ot



T 30418 < oW > o2 zol WS P

(1) (2) (3)
(4)
1
(B) |
(1]
(1) - - (2) (3)
2 | (4)
(5) | 7 4
(1) (2) (3)
7
(4)
1 1
J
(5)
T
(1) (2) (3)
R —————.—- A R A
2
'}_’ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
(5)
,r ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

B
H
s
ot



T 30418 < oW > io2 202 WS P

(1) (2) (3)
B
1
7
(5)
{
(1) (2)
(3)
2 A
4)
,r
(5) | 7 I
(1) (2) H HD 53
(3)
(4]
7
(4)
1

B
H
s
ot



SRR 30 - < BH ki > B v 201 fir % AR
(1) (2)
A
(3) (4)
(1] 9)
(5) 6 |x= |
B C
(7) (8)
(1) (2)
O X B
LI e R
(3)
2 (1) (2) (3)
%H %A *H
1) |a= y
1 10
2 |x= 2
0 5 10 5 *
3
piZe

wLEE



T 30418 < oW > MO 202 WS P

ZEDB=

Jic3 cm’
ADBH & AHCG T,

AABCIRIE=FMAEE» 5,
Z/DBH=/HCG=60°---@

2
(2)
cm
1 A B C D
Q
H D C
2 4 E R F G
cm? P
F R [ A B
3
3
cm

 alan



B R <@{ > H fE BHEE

i ) IR
= e
<
oM
£ E DR
©) @ © XV
=i

&=

U

TEHR



SER 20 4 i < =\ o > MoR 201 fir % AR

(1) (2)
B @)
m 7| ) i (3 | AA A2 A @)
(1) @ (2)
i A
. .
(1) (2 g
D]
(2)
(1) (3)
EATES e
m ) 3 @)
cm
m Bla| B )=(  )=( )= )—f®

B
H
s
ot




SRk 29 RS < B by > O zo2 fie 2 A
(1) (2) &
3|7 1
4]
(1)
(2) (3)
(1) (2) (3)
I
m|7 1 (2)
(1) g/cm’ | (2) J|(3)
4)| 7 1
[cm% %%
6]
ol i) (5%
n I fE T RILF —DKE X,
B
m B @)
B o5)-
m -
% 10 2:0 3:0

NROEHER 7S OB E (cm)

wLEE



K 29 < H g > E & FHAK
1 |No.l No.2 No.3
No.1 |He ( ) ( ) the room.
(1] 2 |No.2|Its ( ) the ( ).
No.3 | ( ), ( ) ( ).
3 |Nol No.2 No.3
1O @ ® ®
2
1
2
3
4
1 2
1
3
(1) | Please look at those ( ).
2 | (2) |Iwentto ( ).
(4] (3) |Who's ( ) the park
€)Y S T S O S OO O MU SOSMME SOSUON HNO HUNOO SO S
3
S S A B i i i iiiivi ;B A rrlitb
1 1 2 3
2
3
4
5 1 2
wLsE



SRR 29 -

AL Bt

N

%




e s I

D2

I
FAN

Zin

< Bl >

SRR 29 -

<K

=

~

[N

{r

kit
1



Sk 29 4F- B < B g > B v 201 Z ARG
(1) (2)
(3) (4)
(1] (9)
(5) (6)
A B
(7) 8) | Lx= i3
(1) (m)
(EB5%MlisTHEALY) | (BiFH)
rh o fiE A
1 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
(2)
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
(1) {18l
2
(2) 7 1 e
1 7 [ () (@
(3] 2
3 (1) (2) |y=

wLEE



Sk 29 4F- B < B g > ¥ 202 i FHAK

1 ZACB= i3

(RIEW)

AABC & AADB T, C

(0]
0
(4] 2

3 (1) cm| (2) em?
1| R
2 (1) cm”| (2) cm®| (3) cm

wLEE



B QY <t £>

A

BEE

N #F B YD

[
m

25

50

TR

i
ur

i
Y

TEHR



ik 28 4 < = k> MoR 201 A5 FHAR
(1) (2) 3)
(1] (1) |a b
@ M1 3%#2 3%1#3
(1) cm (2)
(2) (3) N
21
(1) (2)
3|7 1
(4)
|7 1
¥ — =]
@ 7" A 1@
%
wH T
e il is ALl i —-a—asl il liiin
(2)
2 |(1) 2|7 1
4]
(1) (2)
wLHE



Pk 28 4 < CE W > R Zo2 fit 25 A

(1)
1
@2 |7 « (3)
2| () @ |7 1
3
1 (1) W
()
® (3)
2 *
D
@ I
3 2 ;E
B
0 ' H H H
0 1 2 3 4 5
Wi % L 7= RS R (1)

wLEE



SRR 28 A1 < B by > ¥ Gh A FHAR
1 |No.l No.2 No.3
No.1 |She is ( ) ( ) ( ).
(1] 2 |No.z2|( ) ( ) ( ).
No.3 | The person is ( ) ( ) ( ).
3 |Nol No.2 No.3
1 @® ® ® @
2
1
2 | @ ®
3
4 | She ( ).
1 2
1
3
(M | ( ) this?
2 | (2) |I think this is ( ) in Miyazaki.
(4] (3) | Could you ( ) back?
(1)
3 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
(2)
1 1 2 3 4
2
3 1 2
4
5 1 2

B
H
s
i,



w2

N
A

B
H
s
i,



T 2841 < oW > io2 202 WS P

(1) (2)
7
3)
14
1] @
(5)
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
(1) (2) 3)
7 1
()
2
e
() (2)
3)
(4]
@)

B
H
s
ot



SRR 28 4E < BH ki > B v 201 fir % AR
(1) (2)
(3) (4)
A
(1] (9) : R
(5) 6) |x=
7)) | ZLx= Bl 8 |Bkz i
1 (1) Mo |2
®
GHL))
(1)
®
2]
2
(2)

EZ BHCII - 2=kl

al

B& Ca5l &5 =ik A

Al

wLEE



Sk 28 4F- < B g > ¥ 202 i FHAK

1 a= 2

3 (1) (2 |x=

1 |ZACB= &

(RiEWT)

(4] 2

3 (1) ecm| (20 |AAED: AFGC=

1 cm| 2 cm?
(5]

3 @ ® 4 em®

wLEE



RS E <# £> H §E BHEE

B B N AN
©) ©) 40 ©
- = =Nl
iy B
A H
B ““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ 5
A D x K =
® @ © e
|
= I e S S S s Tt YOI SETPE SETOU SR
[\ Keo)
=
1T
| B ik
S)
S

HEHR



Pk 27 4 < wmog o> B M zol e s I

N
A
@

N

IRV | BH

@ | 58 B

NaHCO;—Na,CO;

% | (2) g

N
A

B
H
s
i,



SRk 27 A < H g > R Zzol 5 P A
(1
(2) (3)
(1)
| KREHO—BALHHE |
1
(2) [ o wns bo{uny]  [omE]
¥ ¥ i f
[ Emokreemmoskily |f------!
7
(1)
6] 1
(2) em/s | (3)
FiiE T 5 & =0l 0BT 5 HE

VAT A BB L T3 & 2O

B

ot



SRR 27 A

< Bl >

1 |No.l No.2 No.3
No.1 | There are ( ).
(1] 2 |No.2|( ) ( ) ( ).
No.3 | ( ), ( ) ( ).
3 |No.l No.2 No.3
1| @ @ @
2
1
2 | ( )—( )—( )—( )
3
4 |They ( )
(1) (2)
1
(3)
(M | ( )?
2 | (2) |I think today ( ) yesterday.
3) | ( ) Kyoto.
@ :
(1)
3
(2)
1
1
4
2
3 |( ) ( )
4 1

B
H
s
i,



SRR 27

< Bl >

Zin

2 201

KEE

B

ot




T 27 4 I < oW > io2 202 WS P

(1) (2) (3)
(4)
1
(5)
[B] | | e
(1) (2)
(3) (4)
2
(5)
(1) (2) (3)
273 OO
(4)

wLEE




Sk 27 A < B g > B v 201 i FHAK
(1) (2)
(3) (4)
(8)
(5) |x=
(6) 1) |x= %
1 (1) W (2
(1)
[f#5]
ESBEOR» G RFORETOBED Y % xkm, KEORH 6 AR E TOEDY % ykm
e IR
2
(2)
Hi EEBORPONEBDORETOEDOD km,
HEORD & A ETOEDD km

wLEE



SRR 27

< Bl >

B ¥ o2

1 ZDGF =

&

(REHT)

cm

(2) |HJ:JD=

cm

cm

cm

cm

wLEE




